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Can you see
the intercepts?

Let x = 0 for the y-intercept.

% ~5y= 40
"5{“ 0
_S :%

\/1(5)_8
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Find the value of the x-intercept.

3 3x+10y—40=-10
¥+ 10()-40 =10
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Example 3: </ DFL
Find the equation of a line that passes through the 4{
points (-3,-3) and has a slope of 34. \/ \{/

"o Yy )

Write what you know: FPD“ V'T\' . S\DP-C
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Write an equation of a line {in slope -infercept form) given the following

information, )<4 7(, 2 Y2
1) x-intercept = 2, slope 2) points (3.1) & (-2. 3) lie on the line.



Attachments

Q  Point slope form.docx



Worksheet 

Point Slope Form







1) Find the equation of a line that passes through the points (-1,8) and has a slope of 2.  





2) Find the equation of a line that passes through the points (6,-3) and has a slope of m=4.  





3) Find the equation of the straight line that has slope m = ¾ and passes through the point (–1, –6).





4) Find the equation of a line that passes through (-1,1) and has the same slope as y = -3x + 4.





5) Find the equation of a line that passes through (-7,3) and has the same slope as y = 2x + 1.





6) Find the equation of a line that passes through the points (3,-2) and (-4,1)





7) Find the equation of a line that passes through the points (3,-2) and (-4,1)





8) Find the equation of a line that has the same x-intercept as this equation   2x +6 = 3y, and also passes through the point (4,5).
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